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Quizzes
UNIT 2
3D GEO
2008A 11, Three cubes are each formed from the pattern shown. They 4
are then stacked on a table one on top of another so that the 5 .
13 visible numbers have the greatest possible sum. What is 1 32116
that sum? 8

(A) 154 (B) 159 (C) 164 (D) 167 (E) 189
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2008B 11.

2014A 11.

A cone-shaped mountain has its base on the ocean floor and has a height of
8000 feet. The top % of the volume of the mountain is above water. What is
the depth of the ocean at the base of the mountain, in feet?

(A) 4000  (B) 20004 —+v2)  (C) 6000 (D) 6400  (E) 7000

David drives from his home to the airport to catch a flight. He drives 35 miles
in the first hour, but realizes that he will be 1 hour late if he continues at this
speed. He increases his speed by 15 miles per hour for the rest of the way to
the airport and arrives 30 minutes early. How many miles is the airport from
his home?

(A)140 (B)175 (C)210 (D)245 (E) 280
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2003A  13. The polygon enclosed by the solid lines in the figure consists of 4 congruent
squares joined edge-to-edge. One more congruent square is attached to an edge
at one of the nine positions indicated. How many of the nine resulting polygons
can be folded to form a cube with one face missing?
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2003B 13. An ice cream cone consists of a sphere of vanilla ice cream and a right circular

2014B

cone that has the same diameter as the sphere. If the ice cream melts, it will
exactly fill the cone. Assume that the melted ice cream occupies 75% of the
volume of the frozen ice cream. What is the ratio of the cone’s height to its
radius?

(A) 2:1 (B)3:1 (C)4:1 (D) 16:3 (E)6:1

14. A rectangular box has a total surface area of 94 square inches. The sum of the

lengths of all its edges is 48 inches. What is the sum of the lengths in inches of
all of its interior diagonals?

(A)8V3 (B)10v2 (C)16v3 (D)20v2  (E) 40v2
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2016A 14, Each vertex of a cube is to be labeled with an integer from 1 through 8, with
each integer being used once, in such a way that the sum of the four numbers
on the vertices of a face is the same for each face. Arrangements that can be
obtained from each other through rotations of the cube are considered to be the
same. How many different arrangements are possible?

(A)1 (B)3 (C)6 (D)12 (E)24

2017B . . . . .
0 14. An ice-cream novelty item consists of a cup in the shape of a 4-inch-

tall frustum of a right circular cone, with a 2-inch-diameter base at
the bottom and a 4-inch-diameter base at the top, packed solid with
ice cream, together with a solid cone of ice cream of height 4 inches,
whose base, at the bottom, is the top base of the frustum. What is
the total volume of the ice cream, in cubic inches?

(A) 87 (13)2877r (C)12r (D) ldr (13)44?’r

2001

15. An insect lives on the surface of a regular tetrahedron with
edges of length 1. It wishes to travel on the surface of the
tetrahedron from the midpoint of one edge to the midpoint
of the opposite edge. What is the length of the shortest
such trip? (Note: Two edges of a tetrahedron are opposite
if they have no common endpoint.)

A)v3 ®1 (©vV2 DS ®:2
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2012B 15.

2016B 15,

Jesse cuts a circular paper disk of radius 12 along two radii to form two sectors,
the smaller having a central angle of 120 degrees. He makes two circular cones,
using each sector to form the lateral surface of a cone. What is the ratio of the
volume of the smaller cone to that of the larger?
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All the numbers 2, 3,4, 5, 6,7 are assigned to the six faces of a cube, one number
to each face. For each of the eight vertices of the cube, a product of three
numbers is computed, where the three numbers are the numbers assigned to the
three faces that include that vertex. What is the greatest possible value of the
sum of these eight products?

(A)312 (B)343 (C)625 (D) 729 (E) 1680



